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Ex:

n3

After being closed for a long time, the switch opens at 1 = 0.

&

For the above circuit, determine whether the dependent source acts like an R, an L, or
both. Explain your answer by finding the equivalent value of the R, L, or both that

give(s) the same solution as the original problem.

soln:  The soln For (, (£>0) in the albove prollem
's as Follows (see related problem +for deriva-
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This sSolution s For L connected to +the
cireutt that wneludes +the a’ie]ge,nplen-l: sourde.,



We may think of “the dircuit without L as a
Theventn e_gu‘wq{ent. From

our solh abeve,
we have Ro, = Ri/(1+d),

To Find 1y, we find the gy For the ﬁa/(awinj

circult:
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Because we have an o pen circut 5=0,m1d R
has no f{f'-alro[:. For a qr—Caa/a, we ?e{‘
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Tf we wuse a Thevenin aﬁulvalem‘:} we have
e ﬁdawéhg equivalence:
la

b
V3

1:1
l
’b vy (1) wvy
I+o(.( - R, 3( L
Th |y




We could remove the XV sourade qnol consider

1t to be ~t of +the RTh) _Cl:f_ we also dé[Jus't
the c(ndependent sowrce. If we adeept this

d\anje in Vg, then our XU, gource hecomes

an Re»g %
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on the other hand, we may arque that

the L and o, gource act exactly (like

U+x) L
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we can 'S'(:o\y Hrat +the dependent source
l-aoks

like an Leso’—f value ocl_.



